CMECEHA CrPAZA -" CEKUMA B".B YINN 1-2825, kB. 26, ¢ npeHt.N2 NA
07079.2.2825 no KK Ha rp. byprac

== . S A
314 351 -&)/\&»_455
L] cnanHsa 3
cnanHa =nelm \ — =
cnanya 2 180
4 2,67 m2 L 10,23 m \::/’
] ETAX TPETW koTa +6,55
3 856,30 m2
BCEKUAHEBHA 3 9 --
20,16 m? = X4
I \
N . |
B302 ¢ !/ \ | Tepaca
— s
79.04m2 " J6,54m?
| =—1LE- X
— £ :-:..'.L =3 =
* II’//_ \“'l i
__ S e A\ 7
R 736 ]
) I \! \:' H
o N \_//,’ |
o
N
N Kna BCEKMAHEBHA
BCEKMAHEBHa 2 B301 o T il
=S 54 mf T 21,84 m |
21,43 m? S i L
~ 66.81m2 }
480 - — . 246 S | — | I
"H ‘ 3| Ganalwe | | B303 — - -
SO DA 63.01m2 4 “\
>3 ves i | \]
=4 cnanHs Mk :
Ny - 12,02 m? o -
GaHs/we 9= o %x,d,’/
3,60 2] '____' arna
E Cknaa B7 8 m? 393 | Te 180
8.52m2 180 I
' ) 407
. ==l [ 1]
\ : = CRNAES Gausilwe 404 4
g & 2\
g 8.52m2 3,60 m \ cnanHs 4
' | s / 12,03 m? o ~-=-O
| = - : _ | ~ = ,fepaca ~f\
4,70 m? ‘I
':" ' 180 |/
cnanHsa ) 355 355 . B304 = i
=\ N oy ~>E ¢
12,27 m? ) ) R e . 104.07m2
© .
I eKMmgHeBHa BCeKngHeB| — f
% 7 +6,55 120
| ))23,00 m? 23,02 m?(_ Cknap B9
o o o 3.20m2
— | ~
* 150 190 || 175
* | |
*
B311 262 -
B310 __ S ‘ H . CknanB11j .| Cknag B10
65.20m2 e - = 576m2 | <  5.27m2
cKkn X I B
__054mfl o (JI
~ cKn oD O O| W cknag | . OO
_0,54m Sl H E 10O My sam? y goll | 19,79 m?
B308 i B307 2 Gans/we g B306 | |
( 64.40m2 E E I 64.40m2 3,60 m? / 64.40m2 B
eKNOHeBHA— | [~ B305
21,06 m? N ' ] ) ' 135.61m2
. . - — ;
T ¥* »| . - * .
C] | ] o it
350 [ 350 350 350
~~ 0 ~~ N Gannwe | cnanks
( -. ~ 4,14
W0 ) I‘( \,,' l'\L\o /'l L m!/; 18,14 m?
) v -
M~ M~
-:”:g ) I ( ) ¢ )
cnanks BeeknaHeBHa- - =" \-pCeknaHeBHa BCekuaHeBRa
12,02 m? 22,75 m? 22,75 m? 22,67 m?
— cknan ,“Banslwe |
1 L 5
1,70m2 f§ 2 I'f 3,90 m? I
L | [ :
= K 1 \ 260
N | |.' / ee el e
/| Tepaca ‘r ‘ -
\ 5,57m2 I ! F
\ 325 , | e S— - — S A
<+ BCeKMOHEBHAa e T AL~ %
¢ 3714m2 iy :
= ) | _ Tepaca ‘}
T T i 6,19 m?
B — T [ e
] | — e
] ] ] [ [ [ l m 180

3.TPETU ETAX (ot kKota +6.55 - M 1:75

]
5 5 = EE L]
5m 4m 3m 2m im a




